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Kigar o) —k — m 40 4
@vvy—m 0 ck=18N/mm? m? 0.3 0.3
JoyoiaEms — m 40 4
(BHERR) BAEREA , t=20cm m? 2.9 3
¢hALET) avy)—k 0 ck=18N/mm? m? 0.5 1
i — R R m? 25 3




£ = 8 & = (5)
T 1 # bill i Al i) % 4L H = LEHE
HKEEYM T ¥+ T RE (B) ) m’ 13.0 10
R (C) 1.Om=W<40m GRAL) m’ 9.2 9
1R (D) W< 1.0m (FRAL) m’ 31.7 30
BRIV 0 ck= 18N/mm2 m3 0.7 0.7

HATFTKER T QE=20E:L i)
avy)—k 0 ck=18N/mm’ m° 14.2 14
Py e INELRESE D) m? 160.6 160
EHRR BAE®RA , t=15cm m? 51.1 51
Ehi C2-B300 M 146.0 146
(#HR) L5 29.0 29
Gid;:)) 5. 117.0 117
B iR I5RAAb:t=10mm m? 1.4 1
(2B UTIEI;E)

avy)—k 0 ck=18N/mm’ m° 4.3 4
Py e INEURESE D) m? 49.0 49
EHRR BAE®RA , t=15cm m? 14.3 14
Ehi C2-B300 ® 41.0 41
H ik ISRZA:t=10mm m? 0.4 1




£ = 7 & = (6)
I &2 2 il 1 il ) % By B =2 HEH=E
BEEX S LT avyy—t 0 ck=18N/mm’ m° 0.6 0.6
Py e INELRESE D) m? 8.5 9
ZL#H(L=150) D13 (SD345) t 0.007 0.01
Ehi C2-B300 5. 26.0 26
FyELY — m? 4.6 5
BEYRET iE il H—FL—JL Gr-C-2B m 44.0 44
(BEYA B Ke 7216 799
" Gr-C-2BS m 40.0 40
(BEYA fE) Ke 660.0 660
" Gr-C-4E m 16.0 16
(£ Ke 256.0 256
EEEELT av9Y—REREL 3 m’ 82.8 83
SRR R AsEZE (t=5cm) m? 5735 570
% hie L) T " m 122.7 120
HiRLSY t=5cm m° 0.1 0.1
HKEEYREL EREE C2-B300 ] 213.0 213

(BFARZE)




3 = A &
E il H il 31 % =3 rEHE
ERNIET RIE K vy —hak 82.8 83
TAI7 IV 28.7 29
AL 5 vy —hak 82.8 83
TAI7IVE5% 28.7 29
BSR4 FEH BER)IFLUE 1.0 1
TRAI7IVNGET
BHEME xE BEEHREAs13:t=5cm 573.1 573
RAET FIARER(M-30):t=10cm 573.1 573
BRAAIGH AR T H—FL—)L Gr-C-2B
(#1580 E#RER 11.0 11
" B R ER (SR30MLLTF) 11.0 11
(RAD EfRAR 40.0 40
H—FL—L Gr-C-2BS
(RAD EfRAR 32.7 33
H—FL—JL Gr-C-4E
(#1580 E#RER 16.0 16
E BN AH R SR AR SD345 D13 0.398 0.40




(&Rt T)
B FLES
% w28 TR :
SEEIT
BRI £ ® -
ERABELT
5kt + W<2.5m 71.3
CIREREELT T
S W<2.5m 64.8
" W=4.0m s
238.8




HEET T I H B E
. BEEEl (£%)
A = & RS PR B T : - : - : -
Br @ FHEE H = (B @ FHEm = | B E¥EE = E¥EE =
NO. 0 0.0
NO. 0 + 10.000 10.000 05 0.25 25
NO. 1 10.000 0.0 0.25 25
INOE 20.000 5.0
NO. 5 0.0
NO. 5 + 10.000 10.000 0.2 0.10 1.0
NO. 5 + 12.607 2.607 05 0.35 0.9
INE 12.607 1.9
3
m m
& i 32.607 6.9




BT T T HEGEE
1 5 P OE B BRREE LT (W<2.5m) ERREE L (W=4.0m) BRARE L (W<2.5m)
BOmE FHNE % E B @ FHNHE &% E W @ FHUEE HK E W FHMRE =3
NO. 0 0.0 0.0 0.0
NO. 0 + 10.000 10.000 0.3 0.15 15 0.0 0.00 0.0 0.0 0.00 0.0
NO. 1 10.000 0.2 0.25 25 0.4 0.20 2.0 0.0 0.00 0.0
NO. 1 + 10.000 10.000 0.1 0.15 15 16 1.00 10.0 0.0 0.00 0.0
NO. 2 10.000 1.1 0.60 6.0 2.2 1.90 19.0 2.0 1.00 10.0
NO. 2 + 10.000 10.000 0.9 1.00 10.0 0.9 155 155 0.1 1.05 105
NO. 2 + 10.000 0.000 0.2 1.0 0.1
NO. 3 10.000 0.2 0.20 2.0 14 1.20 12.0 0.1 0.10 1.0
NO. 3 6.000 6.000 0.2 0.20 12 14 1.40 8.4 0.1 0.10 0.6
NO. 3 6.000 0.000 0.8 1.1 0.1
NO. 3 + 10.000 4.000 0.5 0.65 2.6 2.7 1.90 7.6 0.3 0.20 0.8
NO. 4 10.000 0.5 0.50 50 3.1 2.90 29.0 0.8 0.55 55
NO. 4 + 10.000 10.000 1.1 0.80 8.0 3.2 3.15 315 2.4 1.60 16.0
NO. 5 10.000 1.1 1.10 1.0 2.3 2.75 275 12 1.80 18.0
NO. 5 0.000 0.9 2.3 12
NO. 5 + 10.000 10.000 12 1.05 105 0.0 1.15 115 0.4 0.80 8.0
NO. 5 + 12.607 2.607 1.1 1.15 30 0.0 0.00 0.0 0.3 0.35 0.9
m m3 m m3
a & 112.607 64.8 174.0 713




TTRXRDKX

NO. 243
IVY)-PERERL BREE
W=4. 0m)
\
i=1]504 ﬂ Y- bR L
= o AS‘ =
‘ .-
\ <
BED W<1. Om(RAL) R L }
(k] (W<2.5m) |
BRIRE L —
FREB (L 7)
ok ] (W<2.5m)
RYEB (£ ) | #BRED W< 1. On (7
[#EEE4E] [HEEE4E]



(HEEET - {F%¥1T)
® = E =
& - SE s CIE S B &
fEEET IBFITHEEE T
FRHEB T ® 226.4 226.4
#ED W<1.0mGERAL) 30.1 %01




YE%+ T CHATITHERT) T I % =5 i+ 5§ =
. RiEB: (/) HERD:W<1.0m GRFEL)
A = & RS BE B e _ TR : _ : _
Br & FHE % = B @ FHUEE % = B @ FHEE = Y BR E =
NO. 1 + 16.900 5.0 05
NO. 2 3.100 5.0 5.00 155 05 0.50 16
NO. 2 + 10.000 9.250 23 3.65 33.8 0.6 0.55 5.1
NO. 3 6.000 1.9 05
NO. 3 + 10.000 4.050 24 215 8.7 05 0.50 20
NO. 4 10.200 3.0 270 275 05 0.50 5.1
NO. 4 + 10.000 10.050 6.5 475 477 05 0.50 5.0
NO. 5 10.000 39 5.20 52.0 05 0.50 5.0
NO. 5 + 10.000 10.000 28 3.35 335 05 0.50 5.0
NO. 5 + 12.607 2.600 3.1 2.95 77 05 0.50 1.3
3
m m m
& i 59.250 226.4 30.1




(BEEET IGFRTHERET ) P
% = H 2 & FH =
% W B O® Ek=2 it orE R Bifs % B
EXLET
FRiEB T B AMEELTSE
#BERED W<1.0mGRAL) AIEEELT TSR
1SE AR (ZE &) m 30.10
s m 1.62
av9)—k | ock=18N/mm’ (BIFREEEXRY) m® 36.0
B B — AR E " m’ 105.2
EBRA BERA =200 " m’ 375
KigEISAT VP ¢ 65 19.58 X 1/3 m 6.5
B #h # | IFZ2%4F:t=10mm 35.97 x1/10 m’ 3.6
0%t URA LE#4 t=10mm KIRE/NALTER
HEmEIE w8 (BIFRETEELY) m’ 375
25 E H e (ZE &) m 20.95
s m 2.35
av9)—k | ock=18N/mm’ (R EELY) m® 46.4
B B — AR E " m’ 105.2
EERA BERA =200 " m’ 34.8
HEEMN RIS H=30m " #hm? 101
KirEISAT VP ¢ 65 30.72%1/3 m 10.2
B #h # | IFZ2%4F:t=10mm 46.41%1/10 m’ 46
0% HH URA LE#4 t=10mm KIRE/NALTER
E@EE bt ) (BRETHEELY) 2 34.8
3T E H g (ZE &) m 8.20
s m 2.84
av9)—k | ock=18N/mm’ (R EELY) m® 25.0
B B — AR E " m’ 49.5
EERA BERA =200 " m’ 15.9
BHEIEN RIS H=30m " Hhm® 48
KirEISAT VP ¢ 65 17.71%x1/3 m 5.9
B #h # | IFZ2%4F:t=10mm 24.95%1/10 m’ 25
0%t URA LE#4 t=10mm KIRE/NALTER
HEmEIE w8 (BIFRETEELY) m’ 15.9




[BERET 1BFR4THERET )

% = H = £ H =
& W RO% Hik=3 i o AR =X =
SEERSEET (ZE K m 29.91
av9)—k | ock=18N/mm’ (RIRETEZLY) m° 7.1
i) e — fR R " m2 31.2
EL ® D13 (SD345) 0.0004 % 29.91 t 0.012
(L=200)
B th ik I5A44F:t=10mm 7.1x1/10 m? 0.7
ConHiZEL E|IEEY (REEtEELY) XEEWRIELIICEHE o 47
FyELy — " m? 175
2E5EREE LT (ZE K m 515
av9)—k | ock=18N/mm’ (RIRETEZLY) m° 3.1
B — BRI 5 " m’ 118
EL ® D13 (SD345) 0.0004 X 5.15 t 0.002
(L=200)
B th ik I5A44F:t=10mm 3.1x1/10 m? 0.3
ConHZEL E|IEEY (REETEELY) XEEWRIELIICEE o 1.8
FyELy — " m? 35
RSB IEER ET EAR IS GG, 131 1.0
EILAILFEE | 0ck=18N/mm’ m> 1.3
(BIERBEREE ™)
Eilp o — R R B m? 0.8




(BEEET S5FTTHERET ]

£ £  15EhHApEE H E H B =
400
100
Kelavyy—+
A—FL—L(BEHA)
HForii A
I avyly—»
= gck=18N/mm2 S
T Vi
Vv
Y =
0.40H+200 3
ERRE
(BERBER40mmUT)
100 0.40H+400 100
% B O% 5 it E R BAGT e
(& K] Al NO.2+3.32 ~ NO.2+10 , NO.3+6~NO.4 m 20.35
n NO.5+2.85 ~ NO.5+12.607 m 9.75
(&ED m 30.10
[1.om&YE=E]
avy—k 0 ck=18N/mm? 1/2 x{ 0.40+(0.40H+0.40) } X H+0.10 X 0.10 m?  0.2H%+0.4H+0.01
B B — AR R4 Hx 1.020 X 2+0.1 X 2 m?  2.040H+0.20
EBRA BARA =200 — m? 0.40H+0.60
KiREINNAT VP ¢ 65 (KigExtgavHY—k) x 1/3 m —
KiEEREILHY —k 1/2 x{ 0.46+(0.40H+0.20) } x (H-0.65) % 0.2H%+0.2H-0.215
B th # IFR94F:t=10mm (arsy)—rE) x 1/10 m? —
R LBGLE#4 t=10mm IKIRZE/IRATER
HEmEEIE T — m? 0.40H+0.60

3¢ 1.020(F4 k) — 1:0.20




(BEEET S5FTTHERET ]

£ 2 22 E htigEe H = =
Kglavys)—+F
H—FL—IL(BEDR)
HHkorm A
- R S
ock=18N/mm2 -
i . S
° Y
(BR®)
- Y AN
»
0.45H+175 =
EERE
(BERAZIOMMLT)
100 0.45H+400 | 100
% B O% e it &' K BifsT e
(& K] Al NO.2 ~ NO.2+3.32 m 3.15
' NO.4 ~ NO.4+7.74 m 7.80
. NO.4+12.84 ~ NO.5+2.85 m 10.00
(&ED m 20.95
[1.om&YE=E]
avy)—k 0 ck=18N/mm? 1/2 x{ 0.40+(0.45H+0.40) } X H+0.10 X 0.10 m>  0.225H%+0.4H+0.01
B OB — AR E H x (1.020+1.031)+0.1 X 2 m?  2.051H+0.20
HEBRA BARA =200 — m? 0.45H+0.60
HEERES H=30m H x (1.020+1.031) Bim’ 2.051H
KIRENAT VP ¢ 65 kIREREIVH)—F) % 1/3 m -
KikExtgaL oY —+ 1/2 x{ 0.468+(0.45H+0.175) } X (H-0.65) % 0.225H+0.175H-0.209
B th # IFR94F:t=10mm (arsy)—rE) x 1/10 m? —
R LBGLE#4 t=10mm IKIRZE/IRATER
HEmEEIE T — m? 0.45H+0.60
3 1.020(81LE) —— 1:0.20, 1.031(f} k) —— 1:0.25
P

(BEEET - I5FTTHEEET)




%= 2  35EhHApEE H 2 H B =
S EPYI RN
H=—FL—L (BENR)
HHorm A
oT———— R =
ock=18N/mm2
P \_#=Rw)
‘ -
| 0.47H+165 g
Fod oees s
ERRR
(BEBRARIOMUT)
100 0.47TH+400 | 100
% B O% s it ' R BAfT e
(& E] Al NO.1+16.90 ~ NO.2 m 3.10
n NO.4+ 7.74 ~ NO.4+12.84 m 5.10
(&&H m 8.20
(1.omHYHE]
avH)—k 0 ck=18N/mm? 1/2 % { 0.40+(0.47H+0.40) } X H+0.10 X 0.10 m>  0.235H%+0.4H+0.01
Eidl # —RR R H x (1.020+1.036)+0.1 X 2 m? 2.056H+0.20
ERRa B4R 12200 — m? 0.47H+0.60
HEER RS H=230m H x (1.020+1.036) #hm? 2.056H
KigENAT VP ¢ 65 OKIRERHRALH)—F) x 1/3 m —
KigERRaALI)—F 1/2 x{ 0.471+(0.47H+0.165) } X (H-0.65) m®  0.235H%+0.165H-0.207
B th # IFA94F:t=10mm (@avy)—rE) x 1/10 m? —
R LBGLE#4 t=10mm KIREINATER
HEmEEIE T — m? 0.47H+0.60
3 1.020(51EE) — 1:0.20 , 1.036(5EE) — 1:0.27
P

(BEEET S5FTTHERET ]

ek

5 =

1BEERELT

it

i




A—FL—L(BENMR)

F19B=500
(470~560)
104

KeIavyy—+

HoriA

00

avy)—+

400

2

ock=18N/mm2

/
FyEVY

£ L (0138500)

H

=200
0.21H+500
XTEHHEDE (1:0.18~1:0. 25)
% W % k=l it & AR B =
(E E] A NO.O ~ NO.1+11.72 m 29.91
[1om&YHE]
avH)—k 0 ck=18N/mm? 1/2 x{ 0.50+(0.21H+0.50) } X H+0.10 X 0.10 m>  0.105H%+0.5H+0.01
Eidl # —RR R H % 1.022+H+0.1 X 2 m? 2.022H+0.20
=L # D13 (SD345) 0.20 x 0.995 x 1.00/0.50 Kg 0.4
(L=200)
B th ik IFR94F:t=10mm (@avy)—rE) x 1/10 m? —
ConBUEL EHEEY m> (Bl &EH)
FyELY — CEER) m? 0.21H+0.50
% 1.022(8t k) — 1:0.21
P

(BEEET S5FTTHERET ]

ek

5 =

2EEE LT

%
i

R

T H#B=465




A-—FL—L (BEWA)

(450~480)
10

Kglavyy—f

FHormA

avy)—+

ock218N/mm2

ConFRiZ L

ZLH O
L=200

)

=
=]

500~700

(MEL

3@500) FyoEVY

0.21H+465

XEHFELER
% ¥ % k=l it & AR B B =
(& E] Al NO.1+11.72 ~ NO.1+16.90 m 515
[1Lom&YHE]
avH)—k 0 ck=18N/mm? 1/2 x{ 0.465+(0.21H+0.465) } X H+0.10 X 0.10  m> | 0.105H%0.465H+0.01
Eidl # —RR R H % 1.022+H+0.1 X 2 m? 2.022H+0.20
=L # D13 (SD345) 0.20 x 0.995 X 1.00/0.50 Kg 0.4
(L=200)
B #h iR IFR94F:t=10mm @arby)—rE) x 1/10 m? —
ConEUZEL MATMEEY  h=500 1/2x{(0.21H+0.360)+(0.21H+0.465) } X 0.50 m®  0.105H+0.206
h=700  1/2 %{(0.21H+0.318)+(0.21H+0.465) } X 0.70 m®  0.147H+0.274
FyELY — CEER) m?  0.21H+0.465

% 1.022(F$kE) —— 1:0.21




1S E A W E I NMEESE
1 = spgeg | TEER | OHRE 224" — k(0 ck=18N/mm?) B B(—RER ERRAEERE t=200)
(H) (h) BT @ o E I oy E 1] o S
NO. 2 + 3.320 2.000 1.61 4.28 1.40
NO. 2 + 6.780 3100 1.300 0.87 1.240 3.84 2.85 3.565 11.05 1.12 1.260 3.91
NO. 2 + 10.000 3000 1.100 0.69 0.780 2.34 2.44 2.645 7.94 1.04 1.080 3.24
NO. 3 + 6.000 1.350 0.91 2.95 1.14
NO. 3 + 10.000 4050  1.500 1.06 0.985 3.99 3.26 3.105 12.58 1.20 1.170 4.74
NO. 4 10200 2.000 1.61 1.335 13.62 4.28 3.770 38.45 1.40 1.300 13.26
NE 20.350 23.79 70.02 25.15
NO. 5 + 2.850 2.000 1.61 4.28 1.40
NO. 5 + 10.000 7150 1.500 1.06 1.335 9.55 3.26 3.770 26.96 1.20 1.300 9.30
NO. 5 + 12.607 2600 1.400 0.96 1.010 2.63 3.06 3.160 8.22 1.16 1.180 3.07
N 9.750 12.18 35.18 12.37
m I']’]3 m2 m
& F 30.100 35.97 105.20 37.52




128 H st B I M E M EE
sl & = PR HEEES  XRS 7ME%%1%:I>7'J—‘I~ ~ ' EEEBEERD) ‘ _ _
(H) (h) i1 T B = W | T B = T =
NO. 2 + 3320 2,000 0.99 1.40
NO. 2 + 6.780 3100 1.300 0.38 0.685 2.12 1.12 1.260 3.91
NO. 2 + 10.000 3000  1.100 0.25 0.315 0.95 1.04 1.080 3.24
NO. 3 + 6.000 1.350 0.42 1.14
NO. 3 + 10.000 4050  1.500 0.54 0.480 1.94 1.20 1.170 4.74
NO. 4 10200 2.000 0.99 0.765 7.80 1.40 1.300 13.26
N E 20.350 12.81 25.15
NO. 5 + 2.850 2,000 0.99 1.40
NO. 5 + 10.000 7150 1.500 0.54 0.765 5.47 1.20 1.300 9.30
NO. 5 + 12.607 2600 1.400 0.46 0.500 1.30 1.16 1.180 3.07
N E 9.750 6.77 12.37
m I'n3 m
& 3 30.100 19.58 37.52




10

12 B At e BE T #% 2 5t BE £
W A mmmm  Dee NRE A _ _
(H) (h) W | T B = W | T = T =
NO. 2 + 3.320 2.000 2.00
NO. 2 + 6.780 3.100 1.300 1.30 1.650 5.12
NO. 2 + 10.000 3.000 1.100 1.10 1.200 3.60
NO. 3 + 6.000 1.350 1.35
NO. 3 + 10.000 4.050 1.500 1.50 1.425 5.77
NO. 4 10.200 2.000 2.00 1.750 17.85
N F 20.350 3234
NO. 5 + 2850 2.000 2.00
NO. 5 + 10.000 7.150 1.500 1.50 1.750 12.51
NO. 5 + 12.607 2.600 1.400 1.40 1.450 3.77
NE 9.750 16.28
F145=4862 /30.1= 1.62m
m m2
a F 30.100 48.62




11

2B E LR VE B T = 5t E &
S8l = s | EEm | KRS a9 — o ckZ18N/mm?) B OA—RER ERRREERE t7200)
‘ (H) (h) B Em T Ot % B W Em T B &K B mOF # H B
NO. 2 2.700 2.73 5.74 1.82
NO. 2 + 3.320 3.150 2.000 1.71 2.220 6.99 4.30 5.020 15.81 1.50 1.660 5.23
INE 3.150 6.99 15.81 5.23
NO. 4 2.000 1.71 4.30 1.50
NO. 4 + 7.740 7.800 2.700 2.73 2.220 17.32 5.74 5.020 39.16 1.82 1.660 12.95
INF 7.800 17.32 39.16 12.95
NO. 4 + 12.840 2.700 2.73 5.74 1.82
NO. 5 7.150 2.200 1.98 2.355 16.84 4.71 5.225 37.36 1.59 1.705 12.19
NO. 5 + 2.850 2.850 2.000 1.71 1.845 5.26 4.30 4.505 12.84 1.50 1.545 4.40
INOE 10.000 22.10 50.20 16.59
3 2
m m m m
& i 20.950 46.41 105.17 34.77
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2B E LR VE B T = 5t E &
3 & = P EE B HEE @ XRE HEMERN R 15HH=30m) KirEXFRIAL Y- EEEIE(ED)
(H) (h) W m T g H = W m T g H = W m T g H =
NO. 2 2.700 55 1.90 1.82
NO. 2 + 3.320 3.150 2.000 4.1 4.80 15.1 1.04 1.470 4.63 1.50 1.660 5.23
N E 3.150 15.1 4.63 5.23
NO. 4 2.000 4.1 1.04 1.50
NO. 4 + 7.740 7.800 2.700 5.5 4.80 374 1.90 1.470 11.47 1.82 1.660 12.95
IhF 7.800 374 11.47 12.95
NO. 4 + 12.840 2.700 55 1.90 1.82
NO. 5 7.150 2.200 4.5 5.00 35.8 1.27 1.585 11.33 1.59 1.705 12.19
NO. 5 + 2850 2.850 2.000 4.1 4.30 12.3 1.04 1.155 3.29 1.50 1.545 4.40
IhF 10.000 48.1 14.62 16.59
m fHm’ m’ m’
& F 20.950 100.6 30.72 34.77
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Y E BT ¥ EEEE
. . BE XERE T
Al = s Eem RE , T T = -
(H) (h) B m oY # = B m oY = oY =
NO. 2 2.700 2.70
NO. 2 + 3.320 3.150 2.000 2.00 2.350 7.40
N Et 3.150 7.40
NO. 4 2.000 2.00
NO. 4 + 7.740 7.800 2.700 2.70 2.350 18.33
INE 7.800 18.33
NO. 4 + 12.840 2.700 2.70
NO. 5 7.150 2.200 2.20 2.450 17.52
NO. 5 + 2850 2.850 2.000 2.00 2.100 5.99
N E 10.000 2351
FH45E=49.24 / 20.95= 2.35 m
2
m m
& i 20.950 49.24
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3B E HtpEE VE B T = 5t E &
W& amgpm  ee HRE 229U —HodkZ18N/mm) B AR EBREEERE t200)
’ H) W Bom OF ¥ K B OB @ F ¥ K B m T ¥ # B
NO. 1 + 16.900 3.100 3.51 6.57 2.06
NO. 2 3.100 2.700 2.80 3.155 9.78 5.75 6.160 19.10 1.87 1.965 6.09
IhF 3.100 9.78 19.10 6.09
NO. 4 + 7.740 2.700 2.80 5.75 1.87
NO. 4 + 10.000 2.250 2.900 3.15 2975 6.69 6.16 5.955 13.40 1.96 1.915 4.31
NO. 4 + 12.840 2.850 2.700 2.80 2975 8.48 5.75 5.955 16.97 1.87 1.915 5.46
IhF 5.100 15.17 30.37 9.77
3 2
m m m m
& F 8.200 24.95 49.47 15.86
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CEPES BEE I HEFEE
s . s | EEm | KRS B EMEM R 15H=30m) KipEREIL D) —b HEBIE(LH)
m mIiB o = " N = n 3 =
‘ (H) h B E FE ¥ % 2 K @ FH H B K@ FH H =
NO. 1 + 16.900 3.100 6.4 2.56 2.06
NO. 2 3.100 2.700 56 6.00 18.6 1.95 2.255 6.99 1.87 1.965 6.09
N F 3.100 18.6 6.99 6.09
NO. 4 + 7.740 2.700 5.6 1.95 1.87
NO. 4 + 10.000 2.250 2.900 6.0 5.80 13.1 2.25 2.100 4.73 1.96 1.915 4.31
NO. 4 + 12.840 2.850 2.700 56 5.80 16.5 1.95 2.100 5.99 1.87 1.915 5.46
N F 5.100 29.6 10.72 9.77
m #hm? m m?
& i 8.200 48.2 17.71 15.86
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Y E BT ¥ EEEE
. . BE  d5RE 5
Al = s Eem RE , e = -
(H) (h) B m oY # = B m oY = oY =
NO. 1 + 16.900 3.100 3.10
NO. 2 3.100 2.700 2.70 2.900 8.99
INE 3.100 8.99
NO. 4 + 7.740 2.700 2.70
NO. 4 + 10.000 2.250 2.900 2.90 2.800 6.30
NO. 4 + 12.840 2.850 2.700 2.70 2.800 7.98
N E 5.100 14.28
EHE=2327/820= 284m
m m
& i 8.200 23.27
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= = R = =
1SS T B B2 T ¥ E T HE &
) = PR st  XERS a2%') — M0 ckZ 18N/mm?) B OB RER FuELY
’ (H) h W OmE F 9 M B W OE T ¥ K B OME T Y 2
NO. 0 0.400 0.23 1.01 0.58
NO. 0 + 10.000 10.040 0.400 0.23 0.230 2.31 1.01 1.010 10.14 0.58 0.580 5.82
NO. 1 9.780 0.400 0.23 0.230 2.25 1.01 1.010 9.88 0.58 0.580 5.67
NO. 1 + 10.000 8.480 0.480 0.27 0.250 212 1.17 1.090 9.24 0.60 0.590 5.00
NO. 1 + 11.720 1.610 0.490 0.28 0.275 0.44 1.19 1.180 1.90 0.60 0.600 0.97
3 2
m m m m
& i 29.910 7.12 31.16 17.46
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SRS T B B* T 1 = 5t & &
. L =5rt5 REI] ConHiE L(ERRIEEY)
B oA apEw T RE = g =
(H) (h) ] oY # = B m oY = oY =
NO. 0 0.400 0.21
NO. 0 + 10.000 10.040 0.400 0.21 0.210 211
NO. 1 9.780 0.400 0.15 0.180 1.76
NO. 1 + 10.000 8.480 0.480 0.03 0.090 0.76
NO. 1 + 11.720 1610 0.490 0.03 0.030 0.05
X HEMEIERR LY
m m
& i 29.910 468
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= ey R = =
2 pEREE T Ve B2 T # = it E &
) = spgag ALE RS 22%') — 0 ckZ 18N/mm?) B AR FyELY
’ (H) h W OmE F 9 M B W OE T ¥ K B OME T Y 2
NO. 1 + 11.720 0.940 0.54 2.10 0.66
NO. 1 + 15.650 3.910 1.020 0.59 0.565 2.21 2.26 2.180 8.52 0.68 0.670 2.62
NO. 1 + 15.650 0.000 1.220 0.73 2.67 0.72
NO. 1 + 16.900 1.240 1.230 0.74 0.735 0.91 2.69 2.680 3.32 0.72 0.720 0.89
3 2 2
m m m m
& i 5.150 3.12 11.84 3.51
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2B EREE LT Bg B2 T # 2 5t & &
X L =5rt5 BEE ConEUE L(ERMEEY)
38 mpEgE P . o = =
(H) (h) M| FE OB % = Br | FE OB = FE OB =
NO. 1 + 11.720 0.940 0.500 0.30
NO. 1 + 15.650 3.910 1.020 0.500 0.31 0.305 1.19
NO. 1 + 15.650 0.000 1.220 0.700 0.45
NO. 1 + 16.900 1.240 1.230 0.700 0.45 0.450 0.56
m m
& £ 5.150 1.75




[BERET 1BFR4THERET )
£ = g it & =
% ¥ B O® e o =® =
PR BEEE T IS No.1+0.501% vz (FH 4l) 1.0
EJLZILFE | 0ck=18N/mm’ 0.6 X 0.6 X 3.55 1.3
(EASHEERE) e T EME &Y
iy e —fEE 0.22 X 3.55 0.8

KEETREARELY




[B-7093EGE) T J Ry iElEERE]

£ ] = 5 i =
% F RO® iEE it 5 A ==Livd =
EELXT
FR{EB T ® m® 6.0
HBEIVY)—k 0ck=18N/mm? m® 0.8
JRyoiEERE (ZE &) m 4.00
mEJ0vy #%%& | 235cm (RIFRETEELY) m? 7.8
EAaUH)—k 0 ck=18N/mm? " m® 0.9
(t=10cm)
= A # RC0-40 " m? 20
B B & — " m° 0.8
0%t URA LE 44 300 x 300 6.53 % 1/3 [l 20
KigEINAT VU ¢ 50 2x0.47m m 0.9
Xigavo)—k — m 4.00
@vs)—k)  0ck=18N/mm’ 0.783%4.00% 1/10 m? 0.3
JOy g Ew - m 4.00
(EBRR) BAERA =200 7.20%4.00%1/10 m? 29
HMEEIE TR 7.20x 4.00 X 1/10 m? 29
ShALWLET (£ &) m 0.30
avy)—k 0 ck=18N/mm?’ (BIfRETEZLY) m° 0.5
B OB — iR R " m? 25




HELT (TOvomER) + I %% & i ==

. HiEB (£ 5) R H—k

A

AoooR REBEE o oo sewm % B & o@m FoEE & B & FHEE 7 FAME 2
NO. 1 + 7.100 15 0.2
NO. 1 + 10.000 3.780 15 1.50 5.7 0.2 0.20 0.8
NO. 1 + 10.200 0.220 15 1.50 0.3 0.2 0.20 0.0

m m3 m3
& F 4.000 6.0 0.8




(5.7 0y)iEEE) T - J Oy ishEE:) P

% 5 JnvliEbEE: B B F 5 &

109 Xmavy -+

| /

100

1S
3000

<

H

H—100

ZRAaVH - bEMS
(V=0.018m3) \

=
Joy s HER
% W% e B - =-Rivs B =
[EE E] Z#l| NO.1+7.10 ~ NO.1+10.20 m 4.00
[1.0m&VYE=Z]
EiEPA=P #8715 , #¥¥35cm (H-0.10) X 1.044 (=SL) m?  1.044H-0.104
EAa9)—k | 0ck=18N/mm’ (1.044H-0.104) x 0.10+0.018 m®  0.104H+0.008
(t=10cm)
ZE A M RC0-40 (H-0.40) X 1.044 % 0.30 m®  0.313H-0.125
R & — m® 0.2
0% H LBGIE#4 300 % 300 (BEKM R R ETE) x 1/3 &P -
e YR E L (H-0.40) X 1.044 m?  1.044H-0.418
KR4 F VU ¢ 50 (R LBRIEM EFT) X 047 m —
¥ L=0.45 X 1.044=0.47m (1 ALY FEHE)
3% 1.044(F}tk) — 1:0.30




[B-7093EGE) T J Ry iElEERE]

£ 2  Kigars)—k Hn E H & =
783
% ¥ OB k=) H - - BAGL =
[EE E] Z#l| NO.1+7.10 ~ NO.1+10.20 m 4.00
[100mEYHE]

avs)—k 0 ck=18N/mm?’ 0.783%0.10 X 10.0 m? 0.783
L — AR B 0.10% 1.044 X 2 X 10.0 m? 2.09
B # # IFA44F:t=10mm 0.783x1/10 m? 0.08

3 1.044(F1EE) — 1:0.30

(B-7m/iEGR)T : T 0y iEkEE]




% 2 JOysiEEm H 2 i B =
420 100
\
\/
RS SO avyy—+

) L Ty g gck=18N/mn2

\ \\ \ // \\

\ \/

\\ \\ <\\ ~

=4I\ R -

o~ \ \ o

of—r—— N

< \

2 -

L
E¥RAR
(BERAELOMMUT)
10 520 100
720
& F ]RO¥ okl it 5 A B {1 =
(& R] Z{l NO.1+7.10 ~ NO.1+10.20 m 4.00
[10.0m&YEE]

avg)—k 0 ck=18N/mm?’ {1/2 % (0.10+0.52) x 0.20+0.1 X 0.52} X 10.0 m° 1.140
BB — iR (0.30+0.10) X 10.0 m? 4.00
EWRA BAERA =200 0.72 X 10.0 m? 7.20
B #h & IF244b:t=10mm 1.140%1/10 m? 0.11
EEEBIE T 0.72%10.0 m? 7.20
[A-70993EER)T - J Oy iEEEE])
£ £  /pA1ET(t=300) H = H & =




1750
2250

H=

=
o L_A(
783
% % kel B - BT H =
(& R] Zf8l NO.1+10.20 ~ NO.1+10.65 m 0.30
(EREDE )|
avyl)—k 0 ck=18N/mm?’ 0.783 X 2.25 X 0.30 m° 0.529
pidl # — A% 0.783 X 2.25+2.25 X 1.044 X 0.30 m? 247

3 1.044(F1EE) — 1:0.30




H-JOVIBGR I % 2

oH oW

JnyoisERE
2 - = B O RS NRS &7 0o (57 , #£350m) AV~ (0 ckZ18N/mm2) ® A # (RC0-40)
m mIiB o = " N = n 3 =
‘ (H) M & ®E T ¥ K B O E F O % E BB FHN OH E
NO. 1 + 7.100 2.200 22 0.24 0.6
NO. 1 + 10.000 3.780 1.750 1.7 1.95 7.4 0.19 0.215 0.81 0.4 0.50 1.9
NO. 1 + 10.200 0.220 1.750 1.7 1.70 0.4 0.19 0.190 0.04 0.4 0.40 0.1
2 3 3
m m m
& i 4,000 7.8 0.85 20




Ty HG-70V99GR I # 2 i B &
B o= £ . =
s 5 5 A R VRt | NERE ’ B B X ‘ _ ’ BEK# st mEE ‘ _ ’ _
H) (h) Br | FE OB % = Br | FE OB # = iy =
NO. 1 + 7.100 2.200 02 1.88
NO. 1 + 10.000 3.780 1.750 0.2 0.20 08 1.41 1.645 6.22
NO. 1 + 10.200 0.220 1.750 02 0.20 00 1.41 1.410 0.31
m I’]’l3 m2
& i 4,000 0.8 6.53




(BEKEEYT GAITKET]

£ = 2 5 H =
%A W RO% Eikas i 75 A =L v =2
EELET
FR1EB + ® m> 13.0
#ERC 1.0m=W<4.0m m> 9.2
#ERED W<1.0m m> 31.7
& n 409
BEaVY)—k 0 ck=18N/mm’ m> 0.7
ABURAIE (ZE K m 73.00
avH)—k | ock=18N/mm’ (BIfRETEZELY) m° 14.2
B B INBVRE TS ) " m? 160.6
HEBRA BARA =150 " m? 51.1
= hi C2-B300 21K " ® 146.0
ik " ® 29.0
(H29OEEHI YD) R " ® 117.0
B i 1k I7R244F:t=10mm " mZ 14
HEmEEIE T " m? 51.1
2B URAIE (ZE K m 20.35
a 91—k | 0 ck=18N/mm? (BIRETEZLY) m’ 43
B B INBVRE TS ) " m? 49.0
HEBRA BARA =150 " m? 14.3
= 7 C2-B300 " ® 410
B i 1k I7R244F:t=10mm " mZ 04
HEmEEIE T " m? 14.3
BERAEELT (it ) m 12.65
avH)—k | ock=18N/mm’ (BIfRETEZLY) m° 0.6
B B INEU RS " m? 8.5
EL ® D13 (SD345) 0.0006 X 12.65 t 0.007
(L=150)
= 7 C2-B300 20X 12.65 ® 26.0
ConHRiEL EEGEEY (REETEELY) XEEMIELIICEE o 0.4
FyELy — 0.36 X 12.65 m? 46




T T HkEEMmI) T I % =5 i+ 5§ =
- = P g FR{EB (£ 7) BRC:1.0m=W<40m GREAL) BRED:W<1.0m (A1)
BT B OFHNE % E B B TFHNE B E B B FHNE B B IR E 2
NO. 0 + 10.000 0.4 0.0 0.0
NO. 1 10.250 0.2 0.30 3.1 0.0 0.00 00 0.0 0.00 00
NO. 1 + 10.000 11.450 0.1 0.15 1.7 0.0 0.00 00 0.1 0.05 0.6
NO. 2 10.200 0.1 0.10 1.0 0.0 0.00 00 05 0.30 3.1
NO. 2 + 10.000 11.300 0.2 0.15 1.7 0.3 0.15 1.7 0.3 0.40 45
NO. 3 10.100 0.2 0.20 20 0.0 0.15 15 0.4 0.35 35
NO. 3 + 10.000 9.950 0.0 0.10 1.0 0.6 0.30 30 0.6 0.50 5.0
NO. 4 9.900 0.0 0.00 00 0.0 0.30 30 0.7 0.65 6.4
NO. 4 + 10.000 10.100 0.1 0.05 05 0.0 0.00 00 05 0.60 6.1
NO. 5 10.100 0.3 0.20 20 0.0 0.00 00 0.0 0.25 25
m m m m
a F 93.350 13.0 9.2 31.7




fEEE T (HkigEYT) T I # 5

. BRI —k

Al

. = REER W m o cuwm m 2 W @ TeNE g W W E g W E g
NO. 0 + 10.000 0.03
NO. 1 10.250 0.04 0.035 0.36
NO. 1 + 7.100 8.090 0.04 0.040 0.32

m m3
& § 18.340 0.68




(HEKEEYT SBRITKEET)

£ = 15 URIAIE 2 = H E £
600
150 300 150
80, 80
70 7@
avhy—p £ (C2-B300)
ock=18N/mm2 ‘ ‘ ‘
N | =
ERBE
(BERBE40mmLLT)
50 600 150
700
2 RO® iEE it 5 A ==Livd o=
[EE E] | NO.1 ~ NO.4+10.00 m 73.00
[10.0m&YEE]
=2 RN 0 ck=18N/mm?’ {0.60 X 0.55-(0.44 x 0.11+0.30 x 0.29)} X 10.0 m° 1.946
L INEURREY) 4%0.55x%10.0 m? 22.00
EWRA BAERA =150 0.70x10.0 m? 7.00
E- 1 C2-B300 10.0/0.50 W 20.0
B i iR IFA44F:t=10mm @vy)—r8) x 1/10 m? -
HMEEIE + ® 0.70x10.0 m? 7.00
[1oRXLYHE]
avs)—k 0 ck=18N/mm?’ 1.946 x 73.00 X 1/10 m° 14.21
BB INBURETEY) 22.00 % 73.00x 1/10 m? 160.60
EWRA BAERA =150 7.00 X 73.00x 1/10 m? 51.10
= kR C2-B300 42K 20.0x73.00%1/10 " 146.0
0% 146-117 " 29.0
#F  585m/0.5m W 117.0
L=58.5m (H29EE T %)
B #h I5R44F:t=10mm 14.21%1/10 m> 142
HmEEIE + & 7.00 X 73.00 X 1/10 m? 51.10




(HEKEEYT SBRITKEET)

£ = 25 URAIE 2 = H E £
600
150, 300 150
30 80
0 i
avhy—t EIR (C2-B300)
ock=18N/mm2 ‘ ‘ ‘
N | = -
= =7 e
ERBE
(BERAZL0MMLLT)
50 600 50
700
& W RO® iEE it 5 A ==Livd o=
[EE E] Z{ NO.0+10.00 ~ NO.1 m 10.25
n  NO.4+10.00 ~ NO.5 m 10.10
(58D m 20.35
[1omEUH#E]
=2 RN 0 ck=18N/mm?’ 0.60 X (h+0.15)—{ 0.44 X 0.11+0.30 X (h-0.11) } m>  0.30h+0.075
B OB INELAESED 4 x (h+0.15) m? 4h+0.60
EWRA BARA =150 m? 0.70
- C2-B300 1.0/0.50 W 20
B i iR IFA44F:t=10mm @vy)—r8) x 1/10 m? -
HMEEIE + ® m? 0.70
[1oRXLYHE]
avyl)—k 0 ck=18N/mm? (BISREtEELY) m° 4.32
BB INBURESE Y " m? 49.04
HERR BERA =150 0.70 X 20.35 m? 14.25
E IR C2-B300 2.0%20.35 W 410
B #h 4R IF244b:t=10mm 432%1/10 m? 0.43
E@EEBIE T w 0.70 X 20.35 m? 14.25




(HEKEEYT SBRITKEET)

£ = RRAEELT # 2 FH B £
T#)B=660
(630~690)
180 300 180
110 110
70 7q
EH (02-8300)
‘ ‘ R =
2 =l =7
y /J,i/{\ =+ =
; = =
ConERiE L FyE Y §
£ L% (D136500)
L=150
% W% e B - =-Rivs B =
[EE E] £l NO.5 ~ NO.5+12.607 m 12.65
[1.0m&VYE=Z]
avs)—k 0 ck=18N/mm?’ (0.18 X h-0.07 X 0.11) X 2 m®  0.36h-0.016
BB INEURRTEY) 4% h m? 4h
ZL m D13 (SD345) (0.15 % 0.995 X 1.00/0.50) X 2 Kg 0.6
(L=150)
= B C2-B300 1.00/0.50 154 20
ConEiEL EHEED m° (Rl2EH)
FyELY — 0.18x2 m? 0.36




i kI HMEHHE
. N KEE ETES a5 —k (0ck=18N/mm2 ) B BONEREEY)
A = ol et BE | HER , = , > v = =
(h) B m oY # = B m oY # = oY =
No. 0 + 10.000 0.485 0.22 254
No. 1 10.250 0.400 0.20 0.210 215 2.20 2.370 24.29
hF 10.250 215 24.29
No. 4 + 10.000 0.400 0.20 2.20
No. 5 10.100 0.525 0.23 0.215 217 2.70 2.450 24.75
hF 10.100 217 24.75
2
m m m
& i 20.350 432 49.04




BEREEE LT HE K I % B8 5t & £
3 = o= R PR BEtE IES a241) — o ck=18N/mm?) B BONMNEEY) ConEUZELEFEEY)
‘ (h) (h1) WOm O OF # % B2 O @E O OF ¥ % = mOF #5 &K 2
NO. 5 0.180 0.05 0.72 0.03
NO. 5 + 10.000 10.050 0.160 0.04 0.045 0.45 0.64 0.680 6.83 0.03 0.030 0.30
NO. 5 + 12.607 2.600 0.160 0.04 0.040 0.10 0.64 0.640 1.66 0.04 0.035 0.09
X M E SR LI R &Y
3 2 3
m m m m
& i 12.650 0.55 8.49 0.39




(BEYEHET]

% = & BH =
% RO H it 5 A B =
PHEMBET
(BEPHEIEHRIRLY)
H—KL—JL Gr-C-2B L= m 44.0
(Ris¥ A EAE) W=44.0 x 16.4kg/m Ke 7216
" Gr-C-2BS L= m 40.0
(Ris¥ A - AT ) W=40.0 X 16.5kg/m Ke 660.0
" Gr-C-4E L= m 16.0
(LA W=16.0 X 16.0kg/m Ke 256.0
EEYEIELT
(ZEB)+(ERD+(EEE £ T) + BiBE L T)
av o) —REEL 3 36.28+39.64+4.7+1.8+0.4 m® 82.8
SHERRAERE  AsEEE (t=5cm) (& i E TH HARBLE £ Y) m’ 5735
SHE AR U BR " ( " ) m 122.7
SERALSY t=5cm 2.3%1072x0.05x 122.7 m° 0.1
Bk EEMIBET
ERBE C2-B300 N= ® 213
(BRRAKE)
SEMEALIE T
B AV —hak m® 82.8
TARAI7ILEER 573.5 X 0.05 m° 28.7
s avH)—kak m° 82.8
FAI7 LR m’ 28.7
BISHR4A RER sZmERITIFLUE =] 1




A MIEL T B I M E G HEE
- = = B g5 A :>’7'J—I~F)u§l, (ELEI])E ’ _ ’ _ ’ _
m THEFE H® E W @ THHE W = E¥ETE £ E¥EE £
NO. 0 + 10.000 0.25
NO. 1 10.250 0.22 0.235 2.41
NO. 1 + 10.000 11.450 0.19 0.205 2.35
NO. 2 10.200 0.30 0.245 2.50
NO. 2 + 10.000 11.300 0.43 0.365 412
NO. 3 10.100 0.42 0.425 4.29
NO. 3 + 10.000 9.950 0.41 0.415 413
NO. 4 9.900 0.44 0.425 4.21
NO. 4 + 10.000 10.100 0.52 0.480 485
NO. 5 10.100 0.26 0.390 3.94
hF 93.350 32.80
NO. 1 + 7.100 0.87
NO. 1 + 10.000 3.780 0.87 0.870 3.29
NO. 1 + 10.200 0.220 0.87 0.870 0.19
N E 4.000 3.48
m m3
a & 97.350 36.28




WML T BNiZEIHMEGFESE
a1 = — :>’7'J—I~§y1§l, (ELHJJ)E ’ _ ’ _ ’ _
m THEFE H® E W @ THHE W = e mE = BT mE =
NO. 1 + 16.900 1.59
NO. 2 3.110 1.59 1.590 4.94
NO. 2 + 6.800 6.350 1.59 1.590 10.10
N 9.460 15.04
NO. 3 + 12.300 0.36
NO. 4 7.850 0.36 0.360 2.83
NO. 4 + 10.000 10.050 0.76 0.560 563
NO. 5 10.000 0.74 0.750 7.50
NO. 5 + 10.000 10.000 0.74 0.740 7.40
NO. 5 + 12607 2.600 0.21 0.475 1.24
NF 40.500 24.60
m mS
a F 49.960 39.64
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(fHET)
B E & FH
% RO ke it 5 A B =
FTARI7IVNGHET
HE SR
= B B BHEAS13: t=50m (REUBEZLY) m’ 573.1
HEET HIEARE A :t=10cm ( " ) m’ 573.1

(M-30)




5 s HEIH=EGFESE
1 5 P OE B K BELEBHEAs13):t=5cm  FR#E T (RFHH A M-30):t=10cm
B OE FHNE K E B @ FHUNHE ®% E W @ FHHE = F B E =
NO. 0 + 8000 489 489
NO. 0 + 10.000 2.000 507 4.980 9.96 507 4.980 9.96
NO. 1 10.000 4.66 4.865 48.65 4.66 4.865 48.65
NO. 1 + 10.000 10.000 4.76 4710 4710 4.76 4710 4710
NO. 2 10.000 5.10 4.930 49.30 5.10 4.930 49.30
NO. 2 + 10.000 10.000 6.34 5.720 57.20 6.34 5.720 57.20
NO. 3 10.000 5.26 5.800 58.00 5.26 5.800 58.00
NO. 3 + 10.000 10.000 5.00 5.130 51.30 5.00 5.130 51.30
NO. 4 10.000 5.85 5.425 54.25 5.85 5.425 54.25
NO. 4 + 10.000 10.000 6.76 6.305 63.05 6.76 6.305 63.05
NO. 5 10.000 6.12 6.440 64.40 6.12 6.440 64.40
NO. 5 + 10.000 10.000 517 5.645 56.45 517 5.645 56.45
NO. 5 + 12.607 2.600 5.20 5.185 13.48 5.20 5.185 13.48
m m m
a & 104.600 573.14 573.14
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(RrEEHT ]

£ = = 5 i %
& WO e B - =-Rivs =

- BR{BIBHEEMR T

H—FL—L ~ Gr-C-2B @R ERID m 11.0
(HiEWIA: B0 n HHERER (=R30MLLT) m 11.0

GR) ER m 400

H—FL—L Gr-C-2BS GR) ER m 32.7
(EEWA fER)
EpEEiMAaskAT  SD345 D13 L=11.0+11.0+40.0+32.0 m 94.0

(94.0/2.0+1) X 0.0083 t 0.398
A—KL—IL Gr-C-4E €5) m 16.0

(A EHED




(BhEEHH T - ERAIRHEEHR T ]

£ 5  H—FL—GrCc-2B) #H = FH &H #
83 ¢114,3
5 =3 <
—> } r —t
| oz s b o
i B - | D@ 013
a;j‘ - sl 1 | g
2 | : 2 | 2
g s /1 =
OJ ZOOL 7®® 013 00 200 0 7@ D13
BCHEOED ' ' FAIFLE
400 400
@ D13 T of 7
. S 330
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